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1) 818+ U5 2) 81+ s 3) 4 x 100
Answer: Answer: Answer:
4)  Convert the following fraction into a 5) 12/3 + 16/7 6) Convert the following improper
mixed number: 12/5 fraction 10°/g + 4/g to amixed
number
Answer: Answer: Answer:
7 6x10 8) 3% of 31 9) 10/17 - 5/9
Answer: Answer: Answer:

10) 45- S5

11) 5 - %15

12)  649+729

Answer: Answer: Answer:

13) Y0+ 517 14) Anamount was decreased by 1.5% 15) 58/10 x 8%g
to $213.00. Find the original amount.

Answer: Answer: Answer:
]_6) 41/ 7X 25/ 6 17) 2/7 + 3/ 16 ]_8) 2/7 + 3/ 16

Answer: Answer: Answer:
19) 2l7+3g 20) 185-774 21)  185-774

Answer: Answer: Answer:

22) Convert the following fraction into a
mixed number: 20/,

Answer:

23) 82-8x20

Answer:

24) Find the percentage change from 20
to 32

Answer:
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25) Bl x 4% 26) 4000+ 1000 27) 4000+ 1000
Answer: Answer: Answer:
28) 12.3+746 29) 123+746 30) 67.5+738
Answer: Answer: Answer:
31) 1/7 - 1/10 32) Convert the following fraction into a 33) Convert the following fraction into a
mixed number: 18/, mixed number: 18/,
Answer: Answer: Answer:
34) Convert thefollowing mixed number || 35) 18.1+ 62 36) 9 1454.8 33,
103/4 to an improper fraction.
Answer: Answer: Answer:
37) Convert the following fractioninto a 38) 73.1-814 39) 73.1-81.4
mixed number: 14/¢
Answer: Answer: Answer:
40) 73.1-814 41) Convert the following mixed number 42) 50.9 + 62.8
51/, to an improper fraction.
Answer: Answer: Answer:
43) 9+ L9 44)  Convert the following mixed number || 45) Slg+ 414
26/5 to an improper fraction.
Answer: Answer: Answer:
46) Round 24.7 to the nearest 10 47) 17.6 +34.7 48) 10 x 1000
Answer: Answer: Answer:
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49) 3 19 X 7 13 50) 5/ 370f 74 51) 34 +(-76)
Answer: Answer: Answer:
52) 8+ (-99) 53) 850+ 92 54) 8%9x 4°/g
Answer: Answer: Answer:
55) 45 + (-42) 56) Round 9.67000 to 2 significant 57) 8x10
figures.
Answer: Answer: Answer:
58)  99%of 11 59) 22+19+1 60) 259 x 51/,
Answer: Answer: Answer:
61) 4000+ 1000 62) %lg+ 4115 63)  5°x18-14
Answer: Answer: Answer:
64)  140+10 65  140+10 66)  2%s+8%p
Answer: Answer: Answer:
67) 246+ 8% 68) 8 ¥g-5 11, 69) An amount was decreased by 8.1%
to $456.00. Find the original amount.
Answer: Answer: Answer:
70) Anamount was decreased by 8.1% 71) Anamount was decreased by 8.1% 72) Anamount was decreased by 8.1%
to $456.00. Find the original amount. to $456.00. Find the original amount. to $456.00. Find the origina amount.
Answer: Answer: Answer:
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73) 73.8-83.1 74) 75 g X 72 7 75) 7 10- 8 12
Answer: Answer: Answer:

76) 10 83,-5 9 77) 13000+ 1000 78)  765-77.8
Answer: Answer: Answer:

79) Convert the following improper 80) 47/9 X 83/6 81) Anamount was decreased by 1%to
fraction 6%q + 73/, to amixed $254.00. Find the original amount.
number

Answer: Answer: Answer:

82) 35+515 83)  35+515 84)  35+515

Answer: Answer: Answer:
85)  Yig+%s 86)  (-40)+99 87)  (-40)+99
Answer: Answer: Answer:
88) g+ 21, 89) 10Y/7 x 10%/4 90) 10Y/7 x 10%/4
Answer: Answer: Answer:
9) 4 ;-1 9 92)  73-26 93) 18000+ 1000
Answer: Answer: Answer:
94) 18000 + 1000 95) 8000 + 1000 96) 8000+ 1000
Answer: Answer: Answer:
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97) 8000+ 1000

Answer:

98)

16+17-20x 12

Answer:

99)

16+17-20x 12

Answer:

100)  Ysgof 295

Answer:

Total: /100
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1) PYys

8) 0.93

15) 48%+ 45
22) 20%,
29) 86.9
36) 1%/
43) 6%/5
50) 10

57) 80

64) 14

71) $419.06
78)-1.3

85) %19

92) 47

99)
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2) Pp5

9) %153

16) 1131+ 4,
2)

30) 141.3
37) 213
44) 41

51) -42

58) 10.89
65) 14

72) $419.06
79) 147/3
86) 59

93) 18

100) 5

3) 400
10) s

17) 11,
24) 60%
31) 370
38)-8.3

45) 1945
52) -91

59) 24

66) 80+ 567
73)-9.3

80) 4011+1g
87) 59

94) 18

MATHS WORKSHEET

Answers:

4) 49,

11) 7115

18) %3155
25) 15°+g
32) 1%5
39)-83

46) 24.7
53) &5

60) 141+15
67) 80:257
74) 5531+
81) $251.46
88) 4%+
95) 8

5) g9
12) 137.8
19) 53131,
26) 4

33) 195
40) -8.3
47523
54) 40%+ g
61) 4

68) 3%
75) Ygp
82) 86.5
89) 108%5;
%) 8

GENERATOR

6) 15%,
13) 571179
20) -58.9
27)4

34) 103,
41) %10
48) 10000
55) 3

62) 245
69) $419.06
76) 101954
83) 86.5
90) 108%+51
97)8

=

11-PLUS
SATS {wi’)
GCSES \Z

7) 60

14) $209.81
21) -58.9
28) 86.9
35) 80.1
42) 113.7
49) Y47
56) 9.7

63)

70) $419.06
77) 13

84) 86.5
91) 219/,
98)
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